

# The Hauber's law with intuitionistic fuzzy implications

Nora Angelova<sup>1</sup>, Janusz Kacprzyk<sup>2,3</sup>,  
Alžbeta Michalíková<sup>4,5</sup> and Krassimir T. Atanassov<sup>6</sup>

<sup>1</sup> Faculty of Mathematics and Informatics, Sofia University,  
5 James Bourchier Blvd., 1164 Sofia, Bulgaria  
e-mail: nora.angelova@fmi.uni-sofia.bg

<sup>2</sup> Systems Research Institute, Polish Academy of Sciences,  
ul. Newelska 6, 01-447 Warsaw, Poland  
e-mail: kacprzyk@ibspan.waw.pl

<sup>3</sup> Warsaw School of Information Technology  
ul. Newelska 6, 01-447 Warsaw, Poland

<sup>4</sup> Faculty of Natural Sciences, Matej Bel University  
Tajovského 40, Banská Bystrica, Slovakia  
e-mail: alzbeta.michalikova@umb.sk

<sup>5</sup> Mathematical Institute, Slovak Academy of Sciences  
Ďumbierska 1, Banská Bystrica, Slovakia

<sup>6</sup> Dept. of Bioinformatics and Mathematical Modelling,  
Institute of Biophysics and Biomedical Engineering,  
Bulgarian Academy of Sciences  
105 Acad. G. Bonchev Str., 1113 Sofia, Bulgaria,  
e-mail: krat@bas.bg

**Received:** 11 June 2022

**Revised:** 4 July 2022

**Accepted:** 7 July 2022

**Abstract:** 25 years ago, in [7], it was proved that the Hauber's law is an intuitionistic fuzzy tautology. In this case, the used implication was the standard intuitionistic fuzzy one. In the present paper, we check which intuitionistic fuzzy implications, defined during these 25 years, satisfy the Hauber's law as a tautology and which if them – as an intuitionistic fuzzy tautology.

**Keywords:** Hauber's law, Intuitionistic fuzzy implication, Intuitionistic fuzzy tautology, Tautology.

**2020 Mathematics Subject Classification:** 03E72.

# 1 Introduction

The concept of an Intuitionistic Fuzzy pair (IFP) was introduced in [9] as follows: the ordered pair  $\langle a, b \rangle$  is an IFP if and only if  $a, b, a + b \in [0, 1]$ .

The IFP is called an *Intuitionistic Fuzzy Tautology (IFT)* if and only if  $a \geq b$  and it is a *tautology* if and only if  $a = 1, b = 0$ .

For both IFPs the operations conjunction and disjunction have the forms

$$\begin{aligned}\langle a, b \rangle \wedge \langle c, d \rangle &= \langle \min(a, c), \max(b, d) \rangle, \\ \langle a, b \rangle \vee \langle c, d \rangle &= \langle \max(a, c), \min(b, d) \rangle.\end{aligned}$$

In [11], the Hauber's Law is formulated by

$$((A \rightarrow B) \wedge (C \rightarrow D) \wedge (A \vee C) \wedge \neg(B \wedge D)) \rightarrow ((B \rightarrow A) \wedge (D \rightarrow C)) \quad (*)$$

and it is proved that it is a standard tautology. In [7] it was proved that it is an IFT when  $\rightarrow$  is the standard Intuitionistic Fuzzy Implication (IFI)  $\rightarrow_4$  defined by

$$\langle a, b \rangle \rightarrow_4 \langle c, d \rangle = \langle \max(b, c), \min(a, d) \rangle$$

and  $\neg$  is the standard Intuitionistic Fuzzy Negation (IFN)  $\neg_1$  defined by

$$\neg_1 \langle a, b \rangle = \langle b, a \rangle.$$

In [8] this fact is discussed in **Theorem 1.5.30**, but there the following **Open Problem** is formulated: *For which other intuitionistic fuzzy implications, negations, disjunctions and conjunctions the Hauber's Law is an IFT? Are there operations of these four types, for which the Law is a standard tautology?*

In the present paper, we give answers to these questions.

## 2 Main results

First, we must mention that in [1–3, 10], the list of all existing by the moment IFIs and IFNs are given, respectively.

**Theorem 1.** *The implications  $\rightarrow_i$  and the standard negation ( $\neg_1$ ) satisfy (\*) as an IFTs, where  $i = 1, 4, 7, 17, 21, 29, 30, 33, \dots, 36, 45, 61, 71, 72, 75, 76, 77, 79, \dots, 82, 88, 89, 90, 100, \dots, 105, 109, \dots, 116, 118, 124, 125, 126, 128, \dots, 133, 166, 167, 168, 176, 177, 178, 186, 188, 192, 194, 195, 196, 204, 206$ .*

*Proof.* Let the formulas  $A, B, C, D$  be given and let everywhere:

$$\begin{aligned}V(A) &= \langle a, b \rangle, \\ V(B) &= \langle c, d \rangle, \\ V(C) &= \langle e, f \rangle, \\ V(D) &= \langle g, h \rangle.\end{aligned}$$

Below, we will check the validity of the Theorem for the case, when the implication is  $\rightarrow_{33}$  and the negation is  $\neg_1$ , i.e.,

$$V(A \rightarrow_{33}) = \langle a, b \rangle \rightarrow_{33} \langle c, d \rangle = \langle 1 - \min(a, d), \min(a, d) \rangle$$

and

$$V(\neg_1 A) = \neg_1 \langle a, b \rangle = \langle b, a \rangle$$

(see [8]).

We calculate sequentially:

$$\begin{aligned} & V(((A \rightarrow_{33} B) \wedge (C \rightarrow_{33} D) \wedge (A \vee C) \wedge \neg_1(B \wedge D)) \rightarrow_{33} ((B \rightarrow_{33} A) \wedge (D \rightarrow_{33} C))) \\ &= ((\langle a, b \rangle \rightarrow_{33} \langle c, d \rangle) \wedge (\langle e, f \rangle \rightarrow_{33} \langle g, h \rangle) \wedge (\langle a, b \rangle \vee \langle e, f \rangle) \\ &\quad \wedge \neg_1(\langle c, d \rangle \wedge \langle g, h \rangle)) \rightarrow_{33} ((\langle c, d \rangle \rightarrow_{33} \langle a, b \rangle) \wedge (\langle g, h \rangle \rightarrow \langle e, f \rangle)) \\ &= (\langle 1 - \min(a, d), \min(a, d) \rangle \wedge \langle 1 - \min(e, h), \min(e, h) \rangle \wedge \langle \max(a, e), \min(b, f) \rangle \\ &\quad \wedge \neg \langle \min(c, g), \max(d, h) \rangle) \rightarrow_{33} (\langle 1 - \min(b, c), \min(b, c) \rangle \wedge \langle 1 - \min(f, g), \min(f, g) \rangle) \\ &= (\langle \max(1 - a, 1 - d), \min(a, d) \rangle \wedge \langle \max(1 - e, 1 - h), \min(e, h) \rangle \wedge \langle \max(a, e), \min(b, f) \rangle \\ &\quad \wedge \langle \max(d, h), \min(c, g) \rangle) \rightarrow (\langle \max(1 - b, 1 - c), \min(b, c) \rangle \wedge \langle \max(1 - f, 1 - g), \min(f, g) \rangle) \\ &= \langle \min(\max(1 - a, 1 - d), \max(1 - e, 1 - h), \max(a, e), \max(d, h)), \\ &\quad \max(\min(a, d), \min(e, h), \min(b, f), \min(c, g)) \rangle \\ &\quad \rightarrow_{33} \langle \min(\max(1 - b, 1 - c), \max(1 - f, 1 - g)), \max(\min(b, c), \min(f, g)) \rangle \\ &= \langle 1 - \min(\min(\max(1 - a, 1 - d), \max(1 - e, 1 - h), \max(a, e), \max(d, h)), \\ &\quad \max(\min(b, c), \min(f, g))), \min(\min(\max(1 - a, 1 - d), \max(1 - e, 1 - h), \\ &\quad \max(a, e), \max(d, h)), \max(\min(b, c), \min(f, g))) \rangle. \end{aligned}$$

Let

$$X \equiv 1 - 2 \min(\min(\max(1 - a, 1 - d), \max(1 - e, 1 - h), \max(a, e), \max(d, h)), \max(\min(b, c), \min(f, g))).$$

If  $a \geq d \geq e \geq h$ , then<sup>1</sup>

$$X = 1 - 2 \min(\min(1 - d, 1 - h, a, d), \max(\min(b, c), \min(f, g)))$$

(from  $1 - d \leq 1 - h$ )

$$= 1 - 2 \min(\min(1 - d, d), \max(\min(b, c), \min(f, g)))$$

(from  $1 - a \geq b, 1 - d \geq c, 1 - e \geq f, 1 - h \geq g$ )

$$\geq 1 - 2 \min(\min(1 - d, d), \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h)))$$

---

<sup>1</sup>In this case, we will give the detailed proof, while in all next cases – only the important steps of their proofs.

(from  $1 - a \leq 1 - d, 1 - e \leq 1 - h$ )

$$= 1 - 2 \min(\min(1 - d, d), \max(1 - a, 1 - e))$$

(from  $1 - a \leq 1 - e$ )

$$= 1 - 2 \min(1 - d, d, 1 - e)$$

(from  $1 - d \leq 1 - e$ )

$$= 1 - 2 \min(1 - d, d) \geq 0,$$

because  $\min(d, 1 - d) \leq 0.5$ .

If  $a \geq d \geq h \geq e$ , then

$$\begin{aligned} X &= 1 - 2 \min(\min(1 - d, 1 - e, a, d), \max(\min(b, c), \min(f, g))) \\ &= 1 - 2 \min(\min(1 - d, d), \max(\min(b, c), \min(f, g))) \\ &\geq 1 - 2 \min(\min(1 - d, d), \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(\min(1 - d, d), \max(1 - a, 1 - h)) \\ &= 1 - 2 \min(1 - d, d, 1 - h) \\ &= 1 - 2 \min(1 - d, d) \geq 0. \end{aligned}$$

If  $a \geq e \geq d \geq h$ , then

$$\begin{aligned} X &= 1 - 2 \min(\min(1 - d, 1 - h, a, d), \max(\min(b, c), \min(f, g))) \\ &\geq 1 - 2 \min(\min(1 - d, d), \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - d, d, \max(1 - a, 1 - e)) \\ &= 1 - 2 \min(1 - d, d, 1 - e) \\ &= 1 - 2 \min(d, 1 - e) \\ &\geq 1 - 2 \min(e, 1 - e) \geq 0. \end{aligned}$$

If  $a \geq e \geq h \geq d$ , then

$$\begin{aligned} X &= 1 - 2 \min(\min(1 - d, 1 - h, a, h), \max(\min(b, c), \min(f, g))) \\ &\geq 1 - 2 \min(\min(1 - h, h), \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - h, h, \max(1 - a, 1 - e)) \\ &= 1 - 2 \min(1 - h, h, 1 - e) \\ &\geq 1 - 2 \min(1 - h, h) \geq 0. \end{aligned}$$

If  $a \geq h \geq d \geq e$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(\min(1 - d, 1 - e, a, h), \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - d, h, \max(1 - a, 1 - h)) \\ &= 1 - 2 \min(1 - d, h, 1 - h) \\ &= 1 - 2 \min(h, 1 - h) \geq 0. \end{aligned}$$

If  $a \geq h \geq e \geq d$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - d, 1 - e, e, h, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - e, e, \max(1 - a, 1 - h)) \\ &= 1 - 2 \min(1 - e, e, 1 - h) \geq 0. \end{aligned}$$

If  $d \geq a \geq e \geq h$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - h, a, d, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - a, a, \max(1 - d, 1 - e)) \\ &= 1 - 2 \min(1 - a, a, 1 - e) \geq 0. \end{aligned}$$

If  $d \geq a \geq h \geq e$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - e, a, d, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &\geq 1 - 2 \min(1 - a, a, \max(1 - d, 1 - h)) \\ &= 1 - 2 \min(1 - a, a, 1 - h) \geq 0. \end{aligned}$$

If  $d \geq e \geq a \geq h$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - h, e, d, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - a, e, \max(1 - d, 1 - e)) \\ &= 1 - 2 \min(1 - a, e, 1 - e) \geq 0. \end{aligned}$$

If  $d \geq e \geq h \geq a$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - h, e, d, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - h, e, \max(1 - d, 1 - e)) \\ &= 1 - 2 \min(1 - h, e, 1 - e) \geq 0. \end{aligned}$$

If  $d \geq h \geq a \geq e$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - e, a, d, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - a, a, \max(1 - a, 1 - h)) \\ &= 1 - 2 \min(1 - a, a, 1 - a) \geq 0. \end{aligned}$$

If  $d \geq h \geq e \geq a$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - e, e, d, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - e, e, \max(1 - d), 1 - h)) \\ &= 1 - 2 \min(1 - e, e, 1 - h) \geq 0. \end{aligned}$$

If  $e \geq a \geq d \geq h$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - d, 1 - h, e, d, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - d, d, \max(1 - a, 1 - e)) \\ &= 1 - 2 \min(1 - d, d, 1 - a) \geq 0. \end{aligned}$$

If  $e \geq a \geq h \geq d$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - d, 1 - h, e, d, \max(1 - a, 1 - e)) \\ &= 1 - 2 \min(1 - d, d, 1 - a) \geq 0. \end{aligned}$$

If  $e \geq d \geq a \geq h$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - h, e, d, \max(1 - d, 1 - e)) \\ &= 1 - 2 \min(1 - a, d, 1 - d) \geq 0. \end{aligned}$$

If  $e \geq d \geq h \geq a$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - h, e, d, \max(1 - d, 1 - e)) \\ &= 1 - 2 \min(1 - a, d, 1 - d) \geq 0. \end{aligned}$$

If  $e \geq h \geq a \geq d$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - d, 1 - h, e, h, \max(1 - a, 1 - e)) \\ &= 1 - 2 \min(1 - h, h, 1 - e) \geq 0. \end{aligned}$$

If  $e \geq h \geq d \geq a$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - h, e, h, \max(1 - d, 1 - e)) \\ &= 1 - 2 \min(1 - h, h, 1 - d) \geq 0. \end{aligned}$$

If  $h \geq a \geq e \geq d$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - d, 1 - e, a, h, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - d, a, \max(1 - a, 1 - h)) \\ &= 1 - 2 \min(1 - d, a, 1 - a) \\ &= 1 - 2 \min(a, 1 - a) \geq 0. \end{aligned}$$

If  $h \geq a \geq d \geq e$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - d, 1 - e, a, h, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - d, a, \max(1 - a, 1 - h)) \\ &= 1 - 2 \min(1 - d, a, 1 - a) \\ &= 1 - 2 \min(a, 1 - a) \geq 0. \end{aligned}$$

If  $h \geq d \geq a \geq e$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - e, a, h, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - a, a, \max(1 - d, 1 - h)) \\ &= 1 - 2 \min(1 - a, a, 1 - d) \geq 0. \end{aligned}$$

If  $h \geq d \geq e \geq a$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - e, e, h, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - e, e, \max(1 - d, 1 - h)) \\ &= 1 - 2 \min(1 - e, e, 1 - d) \geq 0. \end{aligned}$$

If  $h \geq e \geq a \geq d$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - d, 1 - e, e, h, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - e, e, \max(1 - a, 1 - h)) \\ &= 1 - 2 \min(1 - e, e, 1 - a) \geq 0. \end{aligned}$$

If  $h \geq e \geq d \geq a$ , then

$$\begin{aligned} X &\geq 1 - 2 \min(1 - a, 1 - e, e, h, \max(\min(1 - a, 1 - d), \min(1 - e, 1 - h))) \\ &= 1 - 2 \min(1 - e, e, \max(1 - d, 1 - e)) \\ &= 1 - 2 \min(1 - e, e, 1 - d) \geq 0. \end{aligned}$$

Therefore, the Hauber's Law is an IFT for implication  $\rightarrow_{33}$  and negation  $\neg_1$ .

Now, we will show that this Law is not valid, e.g., for implication  $\rightarrow_{139}$  and the same (standard) negation. Implication  $\rightarrow_{139}$  has the form

$$V(A \rightarrow_{139}) = \langle a, b \rangle \rightarrow_{139} \langle c, d \rangle = \left\langle \frac{b+c}{2}, \frac{a+d}{2} \right\rangle.$$

In this case, we obtain:

$$\begin{aligned} &V(((A \rightarrow_{139} B) \wedge (C \rightarrow_{139} D) \wedge (A \vee C) \wedge \neg_1(B \wedge D)) \rightarrow_{139} ((B \rightarrow_{139} A) \wedge (D \rightarrow_{139} C))) \\ &= ((\langle a, b \rangle \rightarrow_{139} \langle c, d \rangle) \wedge (\langle e, f \rangle \rightarrow_{139} \langle g, h \rangle) \wedge (\langle a, b \rangle \vee \langle e, f \rangle) \\ &\quad \wedge \neg(\langle c, d \rangle \wedge \langle g, h \rangle)) \rightarrow_{139} ((\langle c, d \rangle \rightarrow_{139} \langle a, b \rangle) \wedge (\langle g, h \rangle \rightarrow_{139} \langle e, f \rangle)) \\ &= \left( \left\langle \frac{b+c}{2}, \frac{a+d}{2} \right\rangle \wedge \left\langle \frac{f+g}{2}, \frac{e+h}{2} \right\rangle \wedge \langle \max(a, e), \min(b, f) \rangle \wedge \langle \max(d, h), \min(c, g) \rangle \right) \\ &\quad \rightarrow_{139} \left( \left\langle \frac{a+d}{2}, \frac{b+c}{2} \right\rangle \wedge \left\langle \frac{f+h}{2}, \frac{e+g}{2} \right\rangle \right) \\ &= \left\langle \min \left( \frac{b+c}{2}, \frac{f+g}{2}, \max(a, e), \max(d, h) \right), \max \left( \frac{a+d}{2}, \frac{e+h}{2}, \min(b, f), \min(c, g) \right) \right\rangle \\ &\quad \rightarrow_{139} \left\langle \min \left( \frac{a+d}{2}, \frac{f+h}{2} \right), \max \left( \frac{b+c}{2}, \frac{e+g}{2} \right) \right\rangle \\ &= \left\langle \frac{1}{2} \left( \max \left( \frac{a+d}{2}, \frac{e+h}{2}, \min(b, f), \min(c, g) \right) + \min \left( \frac{a+d}{2}, \frac{f+h}{2} \right) \right), \right. \\ &\quad \left. \frac{1}{2} \left( \min \left( \frac{b+c}{2}, \frac{f+g}{2}, \max(a, e), \max(d, h) \right) + \max \left( \frac{b+c}{2}, \frac{e+g}{2} \right) \right) \right\rangle. \end{aligned}$$

Let

$$X \equiv \max \left( \frac{a+d}{2}, \frac{e+h}{2}, \min(b, f), \min(c, g) \right) + \min \left( \frac{a+d}{2}, \frac{f+h}{2} \right) - \min \left( \frac{b+c}{2}, \frac{f+g}{2}, \max(a, e), \max(d, h) \right) - \max \left( \frac{b+c}{2}, \frac{e+g}{2} \right).$$

When  $a = d = 0, b = c = 1$ , we obtain

$$X = \max \left( \frac{e+h}{2}, f, g \right) - \min \left( \frac{f+g}{2}, e, h \right) - 1 \leq 0,$$

i.e., the expression is not an IFT.

Therefore, this Law is not valid for implication  $\rightarrow_{139}$  and negation  $\neg_1$ .

In the same manner we can check the validity of all other cases in Theorem 1.  $\square$

Again using the same approach, we can prove also the following three theorems.

**Theorem 2.** The implications  $\rightarrow_i$  and the generated by them negations satisfy (\*) as IFTs, where  $i = 1, 3, 4, 7, 11, 14, 17, 18, 20, \dots, 23, 27, 28, 29, 35, 61, 71, 72, 74, 76, 77, 79, 80, 81, 100, 109, \dots, 113, 117, 118, 124, 125, 126, 128, 132, 133, 166, 167, 170, 176, 177, 180, 186, 187, 190, 191, 192, 195, 198, 199, 201, 203, 204, 206$ .

**Theorem 3.** The implications  $\rightarrow_i$  and the standard negation ( $\neg_1$ ) satisfy (\*) as a tautology, where  $i = 77, 88, 206$ .

**Theorem 4.** The implications  $\rightarrow_i$  and the generated by them negations satisfy (\*) as an IFTs, where  $i = 3, 11, 14, 20, 23, 74, 77, 191, 199, 201, 203, 206$ .

### 3 Conclusion

In the present paper, the Open problem, formulated in [8], is solved for the existing at the moment intuitionistic fuzzy implications and intuitionistic fuzzy negations and for the standard conjunction and disjunction, but in [4–6] three (in general case different) intuitionistic fuzzy conjunctions and disjunctions are generated from each one of the intuitionistic fuzzy implications. So, the discussed **Open problem** can be formulated in an essentially more extended form: *For which other (non-standard) intuitionistic fuzzy conjunctions and disjunctions with the related to them IFIs and IFNs the Hauber's Law is an intuitionistic fuzzy tautology and when it is a standard tautology?*

### Acknowledgements

The second and fourth authors are grateful for the support under Mobility project IC-PL/12/2022-2023 between the Bulgarian Academy of Sciences and the Polish Academy of Sciences. The third and fourth authors are grateful for the support under Mobility project BAS-SAS-21-01 between the Bulgarian Academy of Sciences and the Slovak Academy of Sciences.



## References

- [1] Angelova, N., & Atanassov, K. (2021). Research on intuitionistic fuzzy implications. *Notes on Intuitionistic Fuzzy Sets*, 27(2), 20–93.
- [2] Angelova, N., & Atanassov, K. (2021). Research on intuitionistic fuzzy negations. *Notes on Intuitionistic Fuzzy Sets*, 27(3), 18–31.
- [3] Angelova, N., Atanassov, K., & Atanassova, V. (2022). Research on intuitionistic fuzzy implications. Part 2. *Notes on Intuitionistic Fuzzy Sets*, 28(2), 172–192.
- [4] Angelova, N., & Stoenchev, M. (2015/2016). Intuitionistic fuzzy conjunctions and disjunctions from first type. *Annual of “Informatics” Section, Union of Scientists in Bulgaria*, 8, 1–17.
- [5] Angelova, N., & Stoenchev, M. (2017). Intuitionistic fuzzy conjunctions and disjunctions from third type. *Notes on Intuitionistic Fuzzy Sets*, 23(5), 29–41.
- [6] Angelova, N., Stoenchev, M., & Todorov, V. (2017). Intuitionistic fuzzy conjunctions and disjunctions from second type. *Issues in Intuitionistic Fuzzy Sets and Generalized Nets*, 13, 143–170.
- [7] Atanassov, K. (1997). The Hauber’s law is an intuitionistic fuzzy tautology. *Notes on Intuitionistic Fuzzy Sets*, 3(2), 82–84.
- [8] Atanassov, K. (2017). *Intuitionistic Fuzzy Logics*. Springer, Cham.
- [9] Atanassov, K., Szmidt, E., & Kacprzyk, J. (2013). On intuitionistic fuzzy pairs. *Notes on Intuitionistic Fuzzy Sets*, 19(3), 1–13.
- [10] Kacprzyk, J., Čunderlíková, K., Angelova, N., & Atanassov, K. (2021). Modifications of the Goguen’s intuitionistic fuzzy implication. *Notes on Intuitionistic Fuzzy Sets*, 27(4), 20–29.
- [11] Mendelson, E. (1964). *Introduction to Mathematical Logic*. Princeton, NJ: D. Van Nostrand.